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0+ 2y =12 orx+ 2(0)=12 (M1)
P(0, 6) (accept=0,y=6) (A1)
Q(12,0) (accept=12,y=0) (A1) (C3)
Notes: Award (M1) for setting either value to zero.
Missing coordinate brackets receive (A0) the finsie this
occurs. Award (A0)(A1)(ft) for P(0,12) and Q(6, 0).
X+2x-3)=12

(M1)

(6,3) (accepk=6,y=3) (A1)(AL1) (C3)

Note: (Al) for each correct coordinate.

Missing coordinate brackets receive (A0)(Al) ibtis the first
time it occurs.

ra (M1)

Note: Award (M1)for correct substitution into the gradient
formula.

2( 4
5[5 , 0667) (A1) (C2)
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y= %x e (AL)(f)

Note: Award (Al)(ft)for their gradient substituted in their
equation.
y=2x+1 (AD(f) (C2)
3 3
Notes: Award (Al)(ft)for their correct equation.
Accept any equivalent form.
Accept decimal equivalents for coefficients to. 3 sf

OR
y—y1= (X—X) (AL)(f)
Note: Award (Al)(ft)for their gradient substituted in the
equation.
2 2
y—4:§(x+ 1)ORy—8:§(x—5) (AL)(ft) (C2)
Note: Award (Al)(ft)for correct equation.
2 14 2 2
= —-x8+— ORy-4=—-(8+1)ORy-8=—-(8-5 M1
y=3 3 y 3( JORYy 3( ) (M1)

Note: Award (M1)for substitution of x = 8 into their equation.
y =10 (10.0) (AL)(ft) (C2)

Note: Follow through from their answer to part (b).
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(b)
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line passes through (-2, 0) (A1)

line is straight (A1)
negative gradient (line must be straight for marke awarded) (A1)
correct gradient (line must be straight for markeéocawarded) (A1) (C4)
y—0=-3k+ 2)or 3x+y=3(-2) + 1(0)pr y=—-X+cetc (M1)
3x +y = —6 (or equivalent) (A1)(AL)(AL) (C4)
Note: Award (C4) ft for y = —3x+ candidate’sy-intercept(or
equivalent).
Otherwiseaward:

(A1) for y with = in a linear equation,

(A1) for y= —3xor y + 3xseenor for m= -3

(A1) for candidate’sy-interceptincludedin a linear expression.
Do not ft candidate’sgradientif it is wrongin thediagram,no

markfor standalone—3x
(8]

gradient=_?4 or —1.33(3 s.f.) (A1) (C1)

yz'_;x+4 (A1) (C1)
OR4x+3y—-12=0
OR equivalent form

Note: the y-intercept must be 4, allow follow througbnfr

part (a)
= - X—4 M1
y=- (M1)
Note: award (M1) for y-intercept as —4
4x+3y+12=00r§x+y+4=0 (A1) (C2)
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